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Paper I1

Mathermatics

The number of elements in the set,

AnBnC

where A={(x,y) e RxXR: |x| + |y| = 1}
B={(x,y) e RxR:x2+ 2 =1}

and C={(x,y) e Rx R:max{|x|, |y|}=1}

is:
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4 infinitely many

Hﬁﬁq.ﬂﬁﬂﬁ{:_ﬁlﬁ

A={(x,y)e RxR: |x| + |y| =1}
B={(x, y) e RxR:x2+y2 < 1}

M C={(x, y) e RxR :max{|x]|, |y|}=1},
H sagEl # HEem

od

A={x,y)eRxR: |x|+ |y| = 1]
B={(x,y) e RxR:x2+y2 =1} @A
C={(x,y) e RxR:max{|x|, |y|}=1}

dl sel AnBnC ol aedi-dl dval
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A3
1+N(_ andz=u—u2—2. Then

the value of 74 +3z3 +222 - 11z—6is :

HHEATu =
2 +3

QiR s u=

dl z2+ 320 +

=

8.

At wa Liﬁ z=u—u2-2 &l A

B 4221176 FIAA T ;

272 —11z—6 -, Y&

www.FirstRanker.com

www.FirstRanker.com



Firstranker's choice

:l », FirstRanker.com

4 2

Let (a, b) be the solution of the system

. 13_2 If d h
Ixy]51—_l. a and B are the

roots of the equation ax? + 2bx — (a +b) =0,
then the equation, whose roots are aff and
¥ L F

— 4+ —

i

r

| 122+ 47x+40=0
, 12224+ 17x—40=0

= 12x> —53x+56 =0

4 Ox2+54x +80=0

EIIREED

wafs -l

F1 ®A (a, b) 1 Al WHHIW
ax?+2bx — (a+b)=0 ?mgaﬂamﬁ%,a?

agmﬂmﬁméﬂflaﬁﬁm—i—%
[

i 12x2 +47x + 40=0

5 1262+ 17x =40 =0
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4 x>+ 54x +80=0

4Rl S (a,b) ﬂa&f& [x v] L 3] E‘] -l

Grd 6 od o 2 B 2L Wl
ax2+2bx—(a+b)=0 -l eflsr €, dl s
oflor of A 4 % gly do wlsze

o
8.

, 120°+47x+40=0

5 1222+17x—40=0

5 12x%-53x+56=0

4 9x2+54x +80=0

! = . whnere ¢ =3 '
c d 0 2

thena+b+c+dis equalto:
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c d 0

afz A% =[a h],aﬁ‘fa:r ;] & @
atb+c+d TEE:

19
1. 2

a®-["? i a=[11] a
- c d g 21°*

atb+tct+d=

The number of solutions of the equations

x—y—z=0
—3x+2y+z=0
—-3x+z=

such that x, y, z are non-negative integers

and 1‘2+y2+ z2=81is:
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HHEHTT

x—y—z=0

—3x+2y+z=

—-3x+z=0

F 37 Tl #1 T, 5 x, y, 2 HO g
A 2 +92+22=81 % T :

wH{lszell

3x—y—z=0

—3x+2y+2z=0

—-3x4+z=

Al x, i, z 21181 YoUSL & 2 2 + 17 + 22 <81
€1 de Goeldl 2 8.
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The number of subsets of {1, 2, ....., 99}
containing at least 50 elements is :

L 2‘3’9_"250

g ER=ZR

o7
3.2

298

AGL {1, 2, ..., 99) AL 2L 2491 50 el
dRLedl Guaelil vl £5.

L 2“]".&_,25[!
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298
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The coefficient of ¥° in the expansion of

¢ x}[,}

1.

Al

(1 x}["

3

X

405

405
256

LX

MK

256

256

405

405
256

1405

405

3

..'Ex2

6
2

10
J is:

410

] % FEL H 15 H ImE T :
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10
3
x— 0 .
(‘l-'x}{ 2 J Al BRcrenl 2° AL weas

X
3.

1 405
405
- 256

U6

3 296

sl

4. 236

An A.P. having an odd number of terms,
has its first, second and middle terms as

—12, —7 and 38 respectively, then the sum
of this A.P. is :

896
798

5 706

710

oH, 5 991 729 95 99 — 12, —7 a0
38 ¥, 1 =0 TER F9 F1 ATEA ©
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5 798
o 756

4 710

sgetl el 2va 2oy gl adl 25 wailar Sl

ALy, (gl 2 weus wEL 2y —12, —7

w38 €, dl 2 uHiar Aeldl wreal
8.

896

798

710

I S =3 T =n@tl)(n+2) (@n+3)

.T'L! :
then >_J T is equal to :
=1 T

75
1056
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afg S, = _,_'% T, = n(n+1) (n+2) (n+3),

o S, = Y T, = n(ntl) (n+2) (n+3), ,
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Lo
im . ~ =0p .
If i x}% . 4% P, then p is equal
to :
oM,
, @)
5 (2 %
%
5 (2
L
J @) 2
o - .
afg :.l-ml % _14';? =9 @ p T e
= x i il |
. —11,_’
;. @) 2
__'5'|::_r
” (2) o
: L,
z (2) -
L, @7
3/ 3/
x4 4
sl JIL_m'i v = =9 dl
F i :xl.-.' _L r
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Let f: R =R be a differentiable function

such that f(u+v)=f(u)+ 202+ 4uv for all
u, v e R. If f(1) =3, then the equation of the
normal to the curve y=/f(x) at the poinl

(3(3)=

A UF Ao E Fed f: R — R $HYFR
T fF =W u, veR & fau
fiu+v)=flu) + 202 +4up 1 AR f1)=3 %,

ﬁm(%,;—[%]Jmaﬁy=ﬂxﬁaﬁw
mm%:

1 3x+y=3
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5 2x+dy=7

4 3x—y=0

ARl s f: R—R = 2y [Qsadl [au o %

seel Meds 1, ve R U2
f(u+0) = flu) +202 +4uo U oA f{1)=3, dl

45 y=flx) - [Gig [%f{én SIEUN
<)

S

Mo wallsva .

1 x+y=3

Let e Rand

IA] [x + 1], x< —1
flx) = I, x=
[sin{mx)] + 2Axx, x> —1

where [t] denotes the greatest integer
function. If f(x) is continuous at x= —1,

then A is equal to:

;1

o
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1
4 3
HAT A e R T
IA] [x + 1], x< —1
flx) = AL, X =

[sin(7x)] + 2Ax, x> — 1

W@l [t] HETH O Fer g1 A x=—-1 W
ﬂx}?fﬁﬁ%,?ﬁhﬁﬂ'ﬁ?%:

, -1
o
Z
3.{]
1
Z 3
Bzl 5 A eR i
| J|h|{x+l], x< — 1
flx)= Al r=-—1

[Isi_n(qrx}] F2hx, x> —1

sedl [f] 21 Herty yolls (48 sald 8. flx) =l
x=—1 2P Hetel €L ol A

;1

L1
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If the tangent to the curve, x2%y +ay> =,
(a, peR)at thepoint (1, 1)onitis4x +3y =7,
then the normal to it at the point (x,, —5),
x, < 0 on the curve, is :

i 3x+4y +26=0

5 3x+4y+23=0

L 3x+20y+103=0

4 3x+ 20y +106=0

A = 2%y + =, (o, PeR) FFEF (L, 1)
T i dx +3y=7 T, 0T F fag
(x5, —9), %, <0 T e ¥

i 3x+4y+26=0

5 3x+4y+23=0

o 3 +20y+103=0

4 3x + 20y +106=0
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2PIAL 24els 4x+3y=7 @M dl d o Wy -FirstRanker.com
(6i5 (x;, —5), x; <0 =L @0

8.
: 3x+4y +26=0

5 3x+4y+23=0
2 3x + 20y +103=0

4 3x + 20y +106=0

Let AP and BQ be two vertical poles
standing on the horizontal ground at two
points A and B respectively. If AP=16m,
BO=22 m and AB=20 m, then the
minimum value (in m?) of RP?2+ RQ?,

where R is any point on AB, is :

| 840

5 940

1048

1148

T afas sEe % fagsli A 991 B W
FHY: S W AP @91 BQ Hig we ¥ 3fg
AP=16 Hi, BQ=22 i 791 AB=20 #i &, 1
RP2+ RQ?, 5@ R, AB W[ fag 2, #1199
A (T A H)
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5 940

1048

1148

AL 5 s Wl AeH w o Rilde 2o
AP 24 BQ 21454 [521L A 244 B 2010 Gl
8. ol AP=16m, BQ=22m %1 AB=20m
§B4, dl AB Wl Bl R w2 RP2+RQ? -l
ety Gud (3{le2 wi ) 8.

; 840
5 940

1048

1148

The integral ‘[ dx is equal to:

e‘j"“' 1

(Here C is a constant of integration).
. x+ log, |[ef —e 7|+ C
5 —F + loge e —e ¥ + C

x+log, |ef+ e7*| + C

www.FirstRanker.com
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2
elx 1

(Il C TF THFEA T 8)

dxiﬂﬁﬂ%:

e |

i x+ log, |ef —e*| + C
~x+log. |ef—-e ¥ + C

x+log, |e*+ e |+ C

a: %1 loge |[e"+ e | + C

'J‘E .
eh‘l

(21l C =4 2isan-L »Ruis 8)
1 x+ log. |ef —e |+ C
¥ +C

—-x+ lo ef — @
5 ge |

x+ log, |ef+ e7¥| + C

o
% loge |e*+ e ¥ + C

The integral

[5‘111_1 = 41’3} — cos ! (4.1_3— 31'}) dx

o [ ey ]

is equal to : www.FirstRanker.com
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E
2. 2
3w
=, 2

m

)
4 =
o

[sirl_l[Ex = 41'?'] — cos ! [41‘3 = ’h” dx

|.._;||._'.|-——‘ [

:

MIE

olg

N

(sin! (3x — 4x7) — cos ™ (427 — 3x)) d
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The area (in sq. units) of the region

ﬁ:{(x,y}:['lf-yf—x:é 2 _!,f} 15 ;

42

z

1. 3 6
42 7

s 3 6
e s
s & 8
22 1
5 B B

&3] A={(x,y}:[l-_:yzx:~' 2 y}aﬂ
&A%l (o SHIEdi H) ¥ -

W2 7
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22 1
4 3

UE A={(x,y}:i’l£y5x5ﬂ|'2 y} l

=g (2l =isuml) 8.
w2 7
. 3 6
42 7
s B 6
25 s
= 3 §)
.EVE 1
i 3 6

Lety=y(x) be the solution of the differential
equation e¥dy=(1+x+e¥+xe¥) dx and
y(1)=0. Then y( —3) is equal to :

B
=

ra
N

5 10ge(2)

log.(2)

Fa | L3
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HET  y=y(x) HIFA  HHIEHIW
e/dy=(1+x+e¥+xe) de T y(1)=0
TAC! A y(—3) TR :

1. 0

ra
N

5 10ge(2)

log.(2)

Fa | L3

aiRl 5 y=y(x) = (e wdlszw
e¥dy=(1+x+ eV + xe¥) dr2iiy(1)=0 -l Gidt
8. dly(—3)=

1. 0

ra
MW

5 loge(2)

log.(2)

P3|

If AD, A], AE, A3, A4 and AE are the verlices
of a regular hexagon inscribed in a circle of
unitradius, then the product of the lengths
of the line segments AUA], &GAE and AGA3
is :
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25

afe s B F U 99 & SAaia v i
TS H UG Ay A, Ay Ay A THAE @
WmETEl AjA,, AA, T A A, T Tl
T IAFA 2

L 242

, 3

.

o 45 253 Bsetanl Aol 2Adeid 245 [ Bid
uzslel AL ReRilbg=l Ay, A A5 AL A, 2
Ag €, ol 7ot AjA |, AjA, 2 AGA, <l
detd@il-l 2euse 5.

27
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A line is drawn from a point P(—4, 3) to
cut the drde,rz+y2=4‘atthepoims Aand
B. Then PA-PB isequal to:

fag P(—4, 3) ﬁ@m@%ﬁ%%m‘ﬁ
2 +y2=4 =1 fagsi A qn B WA €1 @
PA-PB 9 ¥ :

(G5 P(—4, 3) nizl Sl3d =15 2w, ddn
24+ y2=4 - 52l A 24 B 4l 88 ©. dl
PAPB=

www.FirstRanker.com
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4. 17

e 2

The normal to the ellipse il I ¥ = 1 at

16 36

2
a point P on the ellipse has slope E If this

normal intersects the major axis of the
ellipse at a point A, then (PA)? is equal to :

104
1. 9
1%
> 9
=

32
4, 3

o >
g L+ L 1 Fwm AR P W

16 36

Afers Ft wav (slope) % ¥ afg 9=

AleAd e 6 ad AYG H TH a5 A W
F12dl 2, A (PA)2 TR
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32
4, 3

(2=}

2 _
Guagd X + L = 1 wari Big P 200100
16 % >
oo M o : ;
wfGd ol a1 39. sl 24l 2iGdel Guaausl

el @EAd (Mg A %l 8, dl (PA)2

104
1. 9
1%
> 9
3.
32
4 3

If tangents are drawn from the point
(4, 2) to the hyperbola, 16x>— 251> =400,
then the sum of the reciprocals of the slopes

of these tangents is :

M|

| K
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4
i 5

gfe fa=g (4, 2) ¥ AfTHEe™ 1622 — 2517 =400
R T Wi T €, a1 3 e #i
e (slopes) 3 SohHT 1 AMTRA © :

TR
O | Hes 8 S

1| e

od (G5 (4, 2) wizll Alcaas 16x2 —25y2=400
A yzlsl SRl 2us, dl 2L F4elsiHL 2L

s

e 3cliAl HreL £,

K|
W | b

L8 ) =
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A plane passes through the points («, 1, 0),
(o, 2, 1), (—2,2 —1)and (1, 1, 0) for some
a € R. Then the distance of the point
(1,1, 1) from this plane is:

) L
k2| = N
Ble &g §-

o
&I‘ ]
.

ol o € R % T0 UF d8ae 93 (o, 1, 0),
(2,1),(—22 —1)T90(1,1,0) ¥ EHL ST
2 fag (1,1, 1) 5 59 woae U g #

) L
k2| = N
Ble &g §-

o
&I‘ ]
]
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25 WA 5195 a e R e [@gal (o 1, 0),
(0,2,1), (=2,2, =1) =i (1, 1, 0) izl wir
21 8. dl (G5 (1,1, 1) 4 2 el »id

_}
Let QA =

. — — M
OC=b=1i-2j+k and
T — — . _
OB =10a + 2 b - Letp(insq. units) be
the area of the quadrilateral OABC and q
(in sg. units) be the area of the

— —
parallelogram with A and QC as

P

adjacent sides, then = is equal to :

9

4 www.FirstRanker.com
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—F = 1 A A A
OA a=—[; 3 =2k |y
2
— = A M
OC=b=i-2j+k @

= = = ;
OB =10a + 2 b & | TFAT IS OABC

H Al (1 ThEd H) p @ A9 HHIH
ﬁﬂﬁﬁﬂﬁﬂmw{ﬁﬁm&'%ﬁ
et (s ) q &, @ £ aﬂm%

_:,
oC =
= — - % ;
OB = m L2 b 8. s APSIBLOABC o
B0 p (2L 2A5HHL) 24 ol vl syl
i :

e B T . _—
OA i OC ¢4 ddl HHIdReAly Adeslil

8istn q (el Bisad) i, Al % =

www.FirstRanker.com
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4 8

A bag contains 8 white and 6 black balls. A
ball is drawn at random from the bag, its
colour is observed and kept aside (i.e., not
returned in the bag). Three additional balls
of the same colour as observed are put in
the bag. If now two balls are drawn
simultaneously at random from the bag,
then the probability that these two balls are

of different colours, is :

| b2

G|

18
4 35

U ¥l H 8 HFS a9 6 Fiefl e &1 GeI H A
e e Aresaa fATel Sl 2, SHH 17 St
TH 1o 3 fem S 2 (i a6t |
8T T W) | S T 07 F dE afafem i1
Io1 B T < 1t € afe o S § F 9 iie
M= T UF WY el ot €, & 59 2 e
F fu=1 T 1 31 =+ WS 2

www.FirstRanker.com
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w5 UdL U 8 ME 2 6 S0 EsL &, Hamisl
w5 £5L qEREDS A wiE saml 214 5. -l
21 AEAA 208 D Bt Gl YAl 20 ©
(wi2d b Al yae Hseusl 2l -#ll) BEa
Dl AQL, HEIRIAL ESIAL AAHD UBSL sl
2 5. e ¢ Azl A gL 25 W wskis
3l wde sl 2ud, dl 24 e gst B 1L

-

1 adl el 5.

5 BN

18
4 39
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manufactured while the machine B
produces 40% of the items, Further 2% of
the items produced by the machine A are
defective and 1% of that produced by the
machine B are defective. If an item is drawn
at random f[rom the manufactured items,
then the probability of its being defective

is :
0.160
0.052
~0.016

- 0.014

U FREH | ST A9 A 9B T | Fel sl
TS THE § ¥ 60% HIH A A €, Sarh
[ B, 40% =G 81 TF: HIH A GRSl
TE gl &1 2% Ffeqr § AW wEE B gW
FAET TE T 1% Jfeyoi &1 afe T3
¢ FEgE H A U g g e St

. 0.160

5 0.052

- 0.016

4 0.014
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D stadters Shbiped 1A . :

AGiA tﬂ-gﬁbﬂ 60% GeulsA 53 8. sl 4v-FirstRanker.com www.FirstRanker.com
2 (B A 2Al41 40 % Grug 53 &, ayul 42t

A g1 Geulled sl 2% sl velysal

&9 24 42 B gl21 GoulfEdt izl 1% 21l

wilysel 8. od (B sRquisiEl s g

YlE(zs dld uds sretdl 2ud, dl d uedysd

@l adl Housn 5.

. 0.160

5 0.052

5 0.016

, 0.014

The mean deviation about the mean of the
data in the [following [requency
distribution :

=~ 0 1 2 3
frequency| 2 5 4 1

is:
4
3

i3

> 18

o

ol
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gREmar | 2 | 5| 4| 1
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T ARl o1 9 & Gy qie foage €

4
3

13

> 18

o |

oo

(2L 2 Eazemi qildd wedsell w3l

[Se

-

.

X

ICIn

4
3

13

> 18

o |

O
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Then Zta_n 30 isequa_l to:

fHes

HATS={f€ (0, 277) : 2 sinf(4 sinf — sin30) =3}

2 Y tan?30 T E
hes

12

o4 S={0 € (0, 2) : 2 sinB(4 sinh — sin36) = 3)

dl Y tanZ 30
es

12
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Two towers AB and CD are standing on a
horizontal plane with points A and C on
the plane. If AB=10 m and the angles of
elevation of D from A and Bare 60° and 15°
respectively, then which of the following

(in meters) is not true ?

AC

(5 +1)

5 ,
i D= {3+ V3)

. BD =53

AD=5(+3 +1)
4

afaw gaae F fageli A 91 C W & HAN
ABTHICD @Sl &1 AT AB=10 M 9D F
A T91 B § 399 F1U HEHI: 60° 991 15° F,
AR EAw (F ) T TEH 7

.AC= %{ﬁ - 1)
1. B

CD = ;i(ﬁ F3)

. BD =53

AD = 5(+/3 + 1)
4,
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ol 219l AB @i CD Golell 8 sl 21942 AB -l

Glaud 10 m B, oA [65 D -, Fig»il A 214 B

ol Geatusiel =453 60° 2 15° €l dl

eAl2iArizll 54 (slexnl) w417

T
AC= (V3 + 1
s -
D= =(3++3)
2. =
S'BD=5ME

AD=5(+3 +1)
4

Which one of the following statements is a

tautology ?
 PAC(P A Q)

zﬁﬂﬁvhmvw
v A (~@rg)

s A (~(p ~ q)

=1 5 | FH W1 F9H UF JAE © 2

5 pAl~(p A 9)
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YW e i
5 (~(p~ q)

Al2iArisl 54 Far Fetse 97
~(p ~ q))
LAV (~(pvq)

v (@A)

i qv (~(p~q)
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constructed in a chaitya in a Buddhist
Monastery ?

The famous Sun Temple is located in which
of the following State ?

IBihEII

5 Odisha

2 Jharkhand

i Chattisgarh

The horizontal part of a staircase is known
as which of the following ?

. Riser

5 Tread

= Rail

" Baluster
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Where amongst the following are the
famous rock cut caves found in India ?

L Bhopal

5 Allahabad

Ellora
=

4 Bijnor

Which one of the following colors is
considered to be the happiest of colors ?

1 Blue

5 Black

= Yellow

4 Red

Who amongst the following designed the
Madhya Pradesh Assembly building ?

. B.V. Doshi

5 Raj Rewal

3 Charles Correa

¥ Prem Nath
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Which among the following is the tallest
building in Kolkata ?

, The48

5 The 42
2 The 45

i The 46

The Capitol Complex of Chandigarh is
designed by which one of the following
architect ?

L Raj Rewal

5 Charles Correa

2 Le Corbusier

. BV.Doshi

The texture of a baby’s skin is which one of
the following ?

i Rough

5 Smooth

4 Corrugated

Bumpy

www.FirstRanker.com
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A gondola is a boat found mainly in the
canals of which one of the following

cilies ?

L London

5 Paris

= Venice

a: Frankfurt

The best shadow less light is found from
which of the following direction ?

1 MNorth

5 South

2 East

4 West

In the Indian product market Ebco is known
for the manufacture of which one of the

following ?

: Plywood

5 Glass

= Architectural hardware

4 Tiles
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Whatis the thickness of a normal one brick
thick wall ?

i 300 mm

5 330 mm

= 230 mm

4 400 mm

Which of the following colorsis made when
red and yellow colors are mixed ?

. Green

5 Purple

g Orange

i Black

A gulter with a sloping roof is meant for
which of the following ?

L Holding the roof

5 Draining rain water

5 Decoration

i Protecting windows
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Freaferfaa § 4 fras Fm amer = 9
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oo 27

diel & dfaw v =1 fa=fafeas § 9 f5as
Y H A e ?
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wlnsl Ul Wi (texture) Al s
Usta €M 97

, VRYR (Rough)

, 449 (Smooth)

= 52 qr;{l{gm (Corrugated)

i él'*l'&llﬂ.l&d (Bumpy)

sl 5 o 245 618l B d AlRlrmizll su a1zl
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56 el Gowe w2 saelld &7

LAY S

o 53

MY SlbdR

sl (Tiles)

Ml 2l 2l Sedl sadl gl sasid sedl
€l 87

1 300 mm
5 330 mm

230 mm

400 mm
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Question Label : Comprehension
Directions : Which one of the answer figures is the correct mirror image of the problem

figure with respect to X - X ?
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Juestion Label - Comprehension

Directions : Which one of the answer figure will complete the sequence of the three
problem figures ?
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Juestion Label | Comprehension

Directions : The 3D figure shows the view of an object. Identify the correct front view in
the direction of the arrow, from amongst the answer figures.

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

“T’H_
]

www.FirstRanker.com



» FirstRanker.com

“Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



:I » FirstRanker.com

“Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Cestion Label COI‘H}]I"EHEHSiOH
9897 : 3D 9¥9 =fa | UF 957 F UF 299 F fem@mmn 7 ¥ R F fown # I g, TEE
g 599 %1 39 AHGE] § J T2 |

www.FirstRanker.com



:I » FirstRanker.com

Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

-

L]
=
4.
.""-'-f‘x"‘\-\\_\‘
T B
JJ;:HH
| .__4-:
\f’ f/-*
HEH

www.FirstRanker.com



:I » FirstRanker.com

T
1

3.
4.
s"'ﬁ‘ﬁ
N
B
|
HHMMK,_H" ____.-”f
T
]
1. :
ool |
=
>,
|
L
4.

A Firstranker's choice

www.FirstRanker.com

www.FirstRanker.com

www.FirstRanker.com



:l », FirstRanker.com

tranker's choice _ .
% www.FirstRanker.com www.FirstRanker.com

Cuesticon Label | Comprehension
Hasl : 3- D wugld 215 uged e ol 8. dl-l Bl eddi wod) 1e] w3 2R s
wgldoiiel sl sal.

www.FirstRanker.com



:I » FirstRanker.com

Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
1. S
==
=3 L]
4

www.FirstRanker.com



:l », FirstRanker.com

R Firstrankersthoice
<

www.FirstRanker.com www.FirstRanker.com

'“_JH_
]

www.FirstRanker.com



:l » FirstRanker.com

l_FirS-tr-EnkE-r'S choice ) .
www.FirstRanker.com www.FirstRanker.com

4
T
-
.,
IMH‘I M.Hm
S o
e HHH«"}
RS
o5 i
[ HH‘.--.- ]’
oo M "y -
o PR L
K'HH\[ ?_}_,#
= e
e
-
.-""'fl
1.
Z.
=3
4

Cuesticon Label | Comprehension

www.FirstRanker.com



al-fes

rd {'I__f }3
7 ?
<l

rflkreggggm figures is hidden in the problem figure in the

KGIGHC QA& the CORFRNIWORIPstRanker.com

www.FirstRanker.com

www.FirstRanker.com



» FirstRanker.com

’l Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



;I » FirstRanker.com

3 ‘\_\:}

N

4.

Firstranker's choice

Question Label : Comprehension

ot : == <t T S enfodl § 9 U sngfa W SR fewn | WE 'Y 9 yeA ofa | g
T FE A HE T, g

<N
\ ’i_.s'#

VS

www.FirstRanker.com

www.FirstRanker.com

www.FirstRanker.com



;I » FirstRanker.com

Firstranker's choice

www.FirstRanker.com

www.FirstRanker.com

www.FirstRanker.com



:l » FirstRanker.com

R Firstrankersthoice _ .
www.FirstRanker.com www.FirstRanker.com

Juestion Label - Comprehension

Wl - srettol 2[Rl =is 2ugla 2o 58 2 B e ua 2ugloml musld 9. wEL s
Al 53l

TN
5 ?
o]

www.FirstRanker.com



Firstranker's choice

# » FirstRanker.com

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



=| : FirstRanker.com

Firstranker's choice : :
o www.FirstRanker.com www.FirstRanker.com

Cuesticon Label | Comprehension

Directions : The 3D figure shows the view of an object. Identify the correct top view
from amongst the answer figures.
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Directions : The problem figure shows the top view of an object. Identify the correct
elevation from amongst the answer figures looking in the direction of the arrow.
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Directions : The 3D figure shows the view of an object. Identify the correct side view in
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A Firstranker's choice

In the space provided in the answer sheet
for this question, draw margin lines to form
a [rame. In this frame create an aesthetic
composition using only cylinders and
cubes. These can be of any size and may
be placed separate, overlapping or within
each other. The idea is to produce an
aesthetic and visually exciting composition
of these shapes in the frame without
making it represent any realistic form like
house face etc. These shapes and the other
spaces should be filled with some colors of
your choice so that the visual quality of the
composition is enhanced. 20 marks
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Credit will be given to the exactness of your
answer. 20 marks
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In the space provided for the answer of this
question attempt any ONE of the
following : 30 marks

Design and draw anappropriate pattern for
a bed cover for a girls room. Color or shade
it to enhance its visual quality.

OR
Draw an imaginary picture of a
restaurant.

OR

Draw from imagination a picture of an
Indian leader.
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